
(1)VIII-SCIENCE & TECHNOLOGY

General Instructions :
1. The question paper consists of 2 sections - Section A (having 27 questions) and

Section B (having 12 questions). You are to attempt both the sections.
2. All questions are compulsory.
3. There is no  overall choice. However, internal choices have been provided in all

questions of 5 marks category and 3 questions of 3 marks category.
4. All questions of Section A and all questions of Section B are to be attempted separately.
5. Questions 1 to 4 in Section A and Questions 28 and 29 in Section B are multiple

choice type questions and carry one mark each.
6. Question 5 to 10 in Section A and question 30 to 32 in Section B are very short

answer type questions and carry one mark each.
7. Questions 11 to 16 in Section A and Questions 33 to 35 in Section B are short answer

type questions and carry 2 marks each.
8. Questions 17 to 23 in Section A and Questions 36 and 37 in Section B are also short

answer type questions and carry 3 marks each.
9. Questions 24 to 27 in Section A and Questions 38 and 39 in Section B are long

answer type questions and carry 5 marks each.

1- bl iz'u i=k ds nks [kaM gSa & [k.M ̂ v* (ftlesa 27 iz'u gSa) vkSj [kaM ̂ c* (ftlesa 12 iz'u gSa)A vkidks
nksuksa gh [kaMksa ds iz'u djus gSaA

2- lHkh iz'u vfuok;Z gSaA
3- dksbZ lkefxzd fodYi ugha fn;k x;k gS rFkkfi 5 vad dh Js.kh ds lHkh iz'uksa rFkk 3 vad dh Js.kh ds

3 iz'uksa esa vkarfjd fodYi iznku fd, x, gSaA
4- [kaM ^v* ds lHkh iz'u vkSj [kaM ^c* ds lHkh iz'u vyx&vyx djus gSaA
5- [kaM ^v* esa iz-la- 1 ls 4 rFkk [kaM ^c* esa iz-la- 28 vkSj 29 cgq&oSdfYid iz'u gSa ,oa buesa ls izR;sd

dk 1 vad gSA
6- [kaM ^v* esa iz-la- 5 ls 10 rFkk [kaM ^c* esa iz-la- 30 ls 32 vfr y?kqmÙkjkRed iz'u gSa ,oa izR;sd ^1*

vad dk gSA
7- [kaM ^v* esa iz-la- 11 ls 16 rFkk [kaM ^c* esa iz-la- 33 ls 35 y?kqÙkjkRed iz'u gSa ,oa buesa ls izR;sd 2

vadksa dk gSA
8- [kaM ̂ v* esa iz-la- 17 ls 23 rFkk [kaM ̂ c* esa iz-la- 36 vkSj 37 Hkh y?kqÙkjkRed iz'u gSa ,oa buesa ls izR;sd

3 vadksa dk gSA
9- [kaM ̂v* esa ç-la- 24 ls 27 rFkk [kaM ̂ c* esa iz-la- 38 vkSj 39 nh?kZ mÙkjkRed iz'u gSa ,oa buesa ls izR;sd 5 vadksa

dk gSA
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Section - 'A' ([kaM&^v*)
1. The S.I. unit of amplitude is

(a) Meter (b) hertz
(c) decibel (d) second

vk;ke dh ,l-vkbZ- bdkbZ
(a) ehVj gSA (b) gVZt gSA
(c) Mslhcy gSA (d) lsdsaM gSA

2. When white light, passes through a glass prism, the colour, that propagates
with the least speed, is
(a) red (b) violet

(c) blue (d) green

tc 'osr izdk'k fdlh 'kh'ks ds fizTe ls xqtjrk gS rks og jax ftldh xqtjus dh xfr lcls
de gksrh gS] og

(a) yky jax gS (b) cSaxuh jax gS

(c) uhyk jax gS (d) gjk jax gS
3. Suitable substance for extinguishing fire caused by on oil spill is

(a) water (b) carbon monoxide
(c) carbon dioxide (d) Kerosene

rsy fxjus ls yxh vkx dks cq>kus ds fy, fuEufyf[kr esa ls fdl vfXu'kked inkFkZ dk
bLrseky djsaxs\
(a) ikuh (b) dkcZu eksuks&vkDlkbM
(c) dkcZu MkbZ vkWDlkbM (d) feV~Vh dk rsy

4. Choose the fibre which is sometimes called regenerated fibre.
(a) Nylon (b) Rayon
(c) Terylene (d) Acrylon

bl js'ks dks dHkh&dHkh iqu#thfor js'kk dgk tkrk gS
(a) ukW;yku (b) js;kWu
(c) Vsjhyhu (d) vsdjhykWu

5. Name the first two stars closest to the earth.

mu izFke nks rkjksa ds uke fyf[k, tks èkjrh ds lcls utnhd gSaA
6. Identify the following parts of the human eye :

(a) The dark screen of the eye on which the image is formed.
(b) The dark coloured muscular diaphragm that is responsible for the

colour of the eye.

euq"; us=k ds fuEufyf[kr Hkkxksa dh igpku djsa %
(a) us=k esa mifLFkr izdk'kh; laosnh iV] ftlij izfrfcEc curk gSA
(b) xgjs jax dh ekalis'kh; f>Yyh tks vka[k dk jax fuèkkZfjr djrh gSA

1

1

1

1

1

1



(3)VIII-SCIENCE & TECHNOLOGY

7. Why is the 'Blind spot', of the human eye, insensitive to light?

euq"; dh vka[k dk vaèk fcUnq (CykbaM LikV) izdk'k ds izfr vlaosnu'khy D;ksa gksrk gS\

8. Name the small units that join together to form a polymer.

NksVs bdkbvksa dk uke fy[ksa ftUgsa tksM+dj ikWyhej cuk;k tkrk gSA

9. Write the full form of PET and its one use.

PET dk iwjk vFkZ D;k gS\ mldk ,d mi;ksx crk,¡A

10. Why is water chlorinated in the water treatment plants?

Dyksjhu dks ikuh esa D;ksa Mkyk tkrk gS\

11. (i) Give the meaning of the term 'echo'.
(ii) Why do we not hear echoes in our ordinary surroundings?

(i) izfrèofu 'kCn dk vFkZ crkb;sA
(ii) gesa vius vkl&ikl ds okrkoj.k esa ^izfrèofu* lqukbZ D;ksa ugha nsrh\

12. (a) When an object is brought closer to the eye, how does the focal length
of the eye lens change?

(b) Name the special property of the eye that gives it the ability to change

the focal length of the eye lens.

(a) tc ,d oLrq dks vk¡[k ds vfèkd fudV yk;k tkrk gS] rks vk¡[k dh iQksdy yEckbZ
dSls cnyrh gS\

(b) v¡k[k ds fof'k"V xq.k dk uke crkb;s ftlds dkj.k vka[k vius ySal dh iQksdy
yEckbZ cny ldrh gSA

13. (a) State the basic cause of refraction of light.

(b) Define the term 'absolute refractive index.

(a) vijkorZu dk eq[; dkj.k D;k gksrk gS\
(b) okLrfod viorZu fLFkjkad dks izdk'k dh xfr ds ekè;e ls ifjHkkf"kr djsaA

14. Give reasons :
(a) A piece of paper burns quickly when a burning matchstick is brought

near it but a piece of wood cannot be burnt with the help of a
matchstick only.

(b) A flame of candle goes off, when we blow over it strongly.

dkj.k crk,¡ %
(a) ,d dkxt ds VqdM+s dks ,d tyrh gqbZ fn;klykbZ ds ikl ykus ls tyk;k tk ldrk

gS ij ,d ydM+h ds VqdM+s dks ughaA
(b) eksecÙkh dh Tokyk dks iwaQd ekjdj cq>k;k tk ldrk gS\

15. Write any two steps involved in treatment of sewage.

ey O;oLFkk ds mipkj ds nks rjhds crk,¡A
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16. Which type of plastic cannot be remoulded on heating. Why?

dkSu ls izdkj ds IykfLVd dks rki nsdj iqu% u;h vkÑfr ugha nh tk ldrhA D;ksa\

17. (a) How does the mechanism of production of sound in birds differ from
that in human beings?

(b) The speed of sound in air is v
1
, in water is v

2
 and in iron is v

3
. Arrange

these speed values in increasing order.

(a) if{k;ksa vkSj euq";ksa esa èofu mRiUu gksus ds rjhdksa esa D;k varj gksrk gS\
(b) gok esa èofu dh xfr v1 gS] ikuh esa v2 gS vkSj yksgs esa v3 gSA xfr;ksa ds ekU;ksa dks muds

c<+rs gq, Øekad esa fyf[k;sA

18. (a) Identify the following constellations.

uhps fn[kk;s x;s rkjke.Myksa dks igpkfu,A

(i) (ii)

(b) (i) Name the jovian planet characterised by its beautiful set of rings.
(ii) Name the hottest terrestrial planet.

(c) What is a meteor? Write the other name given to it.

(b) (i) ml tksfo;u xzg dk uke crkb;s ftlds pkjksa vksj (NYyksa dk ,d lqanj

lewg) gSA

(ii) lcls xje ikfFkZo VsjsfLVª;y xzg dk uke crkb,A

(c) mYdk fdls dgrs gSa\ bldks vkSj fdl uke ls tkuk tkrk gS\

Alternative question for visually challenged students in lieu of 18(a)

a
(a) Name the following.

(i) The largest asteroid
(ii) Name the constellation in which the pole star lies on its handle

tip

uke crk,¡ %
(i) lcls cM+k {kqnzxzg (,LVªkWbM)
(ii) ml rkjk e.My dk uke crkb;s ftlds ,d dksus ij èkzqo rkjk fLFkr gSA

19. (a) Name the type of satellites which are used for viewing live telecast of a
cricket match.

(b) State the reason for using these types of satellites.
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(c) State the relation of the time period of revolution of this type of satellites
with the period of rotation of the earth about its axis.

(d) Write any two tasks performed by artificial satellites.

(a) fØdsV dk lhèkk izlkj.k ns[kus ds fy, iz;qDr mixzg fdl uke ls tkus tkrs gSa\
(b) bl izdkj ds mixzg bLrseky djus dk eq[; dkj.k crkb;sA
(c) bl izdkj ds mixzgks ds ifjØek le;] dky vkSj i`Foh ds viuh d{kk ds fxnZ ?kweus

ds le;dky esa D;k lacaèk gksrk gS\
(d) Ñf=ke mixzgksa }kjk fd;s tkus okys dksbZ nks dk;Z fyf[k;sA

20. (a) Name the type of eye defect in the following cases :
(i) A person is unable to see nearby objects clearly.
(ii) A person is unable to see far off objects clearly.
(iii) An old person has a hazy vision.

(b) Write how each of the above defects can be cured.

(a) fuEufyf[kr fLFkfr;ksa esa n`f"V nks"k dk uke crkb;sA
(i) ,d O;fDr tks utnhd dh phtsa Bhd ls u ns[k ikrk gksA
(ii) ,d O;fDr tks nwj dh phtksa dks Bhd ls u ns[k ikrk gksA
(iii) ,d cqtqxZ O;fDr ftls èkqaèkyk fn[krk gksA

(b) ;g fy[ksa dh mijksDr rhuksa izdkj ds nks"kksa esa lqèkkj dSls fd;k tkrk gSA

OR 

Visually challanged people are nowadys are helped by modern Science

and Technology

(a) Name one tactual aid and write how it is useful to them.
(b) Name two non-optical aids that are useful to them.

(i) ,d Li'kZtU; lkèku dk uke vkSj mi;ksx crkb,A
(ii) nks vizdk'kh; lkèkuksa ds uke crk,¡a

21. (a) Why does a pencil appear bent when
it is partially dipped in water?

(b) Complete the ray diagram showing the

path of rays in the diagram given here.

(a) tc ,d isafly dks ikuh esa vkèkh Mqck;k
tkrk gS] rc og eqM+h gqbZ utj vkrh gS
bldk dkj.k crkb;sA

(b) Åij fn, x, js[kkfp=k esa vkifrr fdj.k ds
iFk dks iwjk djsaA
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Alternative question for visually challenged students in lieu of 21(b)

b
Write any two characteristics of the emergent ray when a light ray passes
through a glass slab.

,d izdk'k dh fdj.k] tc pkSdksj 'kh'ks esa ls ijkofrZr gksrh gS] rks ckg~; fdj.k dh dksbZ
nks fo'ks"krk,¡ ds ckjs esa fyf[k;sA

22. Identify the following parts of a candle flame
(i) The luminous zone
(ii) The zone in which incomplete combustion of wax vapours occurs.
(iii) The zone in which a copper rod gets blackened

Tokyk ds ml {ks=k dk uke fyf[k,A
(i) ftls (Y;qfefu;l tksu) nhIr {ks=k dgk tkrk gSA
(ii) ftlesa ekse dh Hkki dk viw.kZ ngu gksrk gSA
(iii) ftlesa dkWij dh NM+ dkyh gks tkrh gSA

OR 

(a) Write two ill effects of incomplete combustion.
(b) Give reason : White phosphorous catches fire spontaneously.

(a) viw.kZ ngu ds dksbZ nks gkfudkjd izHkko crk,¡A
(b) dkj.k crkb, % liQsn iQkLiQksjl vius vki vkx idM+rk gSA

23. Ravi is living in a locality where people usually face shortage of water. Over
the past few days, there was very little of water supply and the water had a
very foul smell. It was also announced that the water supply will be cut off
for the next few days. Ravi was unaffected by this announcement as he
and his family did not have the habit of wasting water. Their overhead
water tank was full. Some of his neighbours, however, panicked as they
did not have any stock of water. Ravi helped them by giving them water
from his tank. He also advised them not to waste water.
(a) Write two methods to conserve water.
(b) Name two values displayed by Ravi.
(c) Write two methods to purify water.

jfo ,d ,sls bykds esa jgrk gS tgk¡ vDlj ikuh dh deh jgrh gSA fiNys dbZ fnuksa ls ikuh
cgqr de le; ds fy, vk jgk Fkk vkSj mlesa ls nqxZUèk Hkh vkrh Fkh ;g lwpuk nh xbZ fd
dqN fnu ikuh can jgsxkA bls lqudj jfo dks dksbZ fpUrk ugha gqbZ D;ksafd mlds ?kj dh ikuh
dh cM+h Vadh Hkjh gqbZ Fkh vkSj mlds ifjokj ds yksxksa dks ikuh cckZn djus dh vknr ugha
FkhA ij mlds dbZ iM+kslh ?kcjk x;s D;ksafd muds ;gka ikuh fcYdqy ugha FkkA jfo us mudh
lgk;rk dh mlus mUgsa vius ?kj ls ikuh fn;k vkSj le>k;k fd og ikuh cckZn u fd;k djsaA
(a) ikuh cpkus ds dksbZ nks rjhds crkb;sA
(b) jfo }kjk n'kkZ;s x;s dksbZ nks izfrewY; crkb;sA
(c) ikuh dks 'kq¼ djus ds nks rjhds crkb;sA
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24. (a) State the audible range of frequencies of sound for the human ear.
(b) Which kind of vibrations produce (i) music (ii) noise

(c) State three methods that can help to check noise pollution.

(a) ekuo d.kksZ ds fy, JO; dh vko`fÙk dk ijkl D;k gS\
(b) (i) laxhr (ii) 'kksj fdl rjg ds daiu dh otg ls iSnk gksrs gSa\
(c) èofu iznw"k.k dks lhfer djus esa lgk;d gksus okys dksbZ rhu mik; crkb;sA

OR 

(i) Label the parts a, b and c in the following
diagram of the human ear.

(ii) State the functions of each of these
parts.

(iii) Name the three bones present in the
middle ear.

(iv) The effect of a given sound stays on the human  ear for nearly 0.1
second. Name this characteristics of human ear.

(i) uhps fn, x, euq"; ds d.kZ fp=k esa a] b vkSj c Hkkxksa ds uke crkb;sA
(ii) bu Hkkxksa esa izR;sd dk dk;Z crkb;sA
(iii) eè; d.kZ esa fLFkr rhu gfM~M;ksa ds uke fyf[k;sA
(iv) èofu dk izHkko ekuo d.kZ ij 0-1 lsdsaM rd cuk jgrk gSA d.kZ dh bl fo'ks"krk dk

uke crk,¡A

Alternative question for visually challenged students in lieu of (i) and (ii)

(i) (ii)
(i) Name the three parts of the human ear.
(ii) State the functions of each of these parts.

(i) ekuo d.kZ ds rhu Hkkxksa ds uke fyf[k;sA
(ii) bu rhuksa Hkkxksa ds dk;Z crkb;sA

25. (a) Complete the following ray diagram.

(b) State the position, nature and size of the image formed in the above
case.

(c) Under what condition, does a convex lens form a virtual image?

(d) Mention any two uses of lenses in our daily life.

a b

c

5
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(a) Åij fn;s x, js[kkfp=k dks iwjk dhft,A

(b) blesa cuus okys izfrfcEc dh fLFkfr] izÑfr ,oa vkdkj crkb;sA
(c) fdl fLFkfr esa ,d mÙky ySal }kjk ,d Hkzfer izfrfcEc curk gS\
(d) gekjs nSfud thou esa ySlksa ds dksbZ nks mi;ksx crkb;sA
Alternative question for visually challenged students in lieu of
Q. 25 (a) and (b)

(a) (b)
(a) State three characteristics of the image formed by a convex lens when

the object is placed beyond its 2F point.
(b) Name the phenomenon responsible for the change in the path of a

ray of light when it goes from one medium to another.

(a) ,d oLrq mÙky ySal ds 2F fcanq ds ihNs j[kh xbZ gSA bl fLFkfr esa ySal }kjk cus
izfrfcEc dh rhu fo'ks"krk,¡ crkb;sA

(b) mldk uke crkb;s ftlds dkj.k ,d ekè;e ls nwljs ekè;e esa tkus ij izdk'k ds ekxZ
esa ifjorZu gks tkrk gSA

OR 

(a) For a given object, it is required to form a
(i) Virtual, erect and magnified image
(ii) Virtual, erect and diminished image
(iii) real, inverted and magnified image
State the name of the lens needed in each case and the position of the
object relative to the lens.

(b) State the two rules for refraction of light.

(a) nh xbZ oLrq ds fy,
(i) vkHkklh] lhèkk vkSj cM+k
(ii) vkHkklh] lhèkk vkSj NksVk
(iii) okLrfod] mYVk vkSj cM+k izfrfcEc cuk;k tkuk gSA

gj ifjfLFkfr esa vko';d ysal dk izdkj fyf[k;s rFkk ySal ds lkis{k oLrq dks
j[kus dh fLFkfr crkb;sA

(b) viorZu ds nks fu;e crkb;sA
26. (a) Why are gaseous fuels considered best. Give three reasons.

(b) What happens when a small piece of sodium is kept in air for sometime.
Why?

(c) How does burning of fossil fuels cause global warming?

(a) xSlh; baèkuksa dks lcls vPNk D;ksa ekuk tkrk gS\ (rhu dkj.k fy[ksa)
(b) D;k gksxk tc lksfM;e ds VqdM+s dks gok esa [kqyk j[k fn;k tkrk gS\ mldk dkj.k

crk,¡A
(c) thok'e b±èku dks tykus ls ^fo'o Å".ku* dSls mRiUu gksrk gS\

5
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OR 

(a) Name the following types of combustion in which
(i) a combustible substance burns fast.
(ii) a combustible substance catches fire even at room temperature

(b) Define calorific value of a fuel and write its S.I. unit.
(c) State two conditions necessary for producing or sustaining

combustion of a combustible substance.

(a) fuEufyf[kr ngu ds izdkj crk,¡A
(i) Toyu'khy inkFkZ rsth ls tyrh gSA
(ii) Toyu'khy inkFkZ tks lkekU; rkieku ij ty mBrk gSA

(b) ^Å"eh; eku* dks ifjHkkf"kr djsa rFkk mldk ek=kd crk,¡A
(c) ,d Toyu'khy inkFkZ ty lds@tyrk jgs] mlds fy, vko';d nks oLrq,¡@fLFkfr;k¡

crk,¡A

27. (a) Give reasons :
(i) Nylon is used for making parachutes.
(ii) Terylene is used for making sails of boats.

(b) Name the synthetic fibre
(i) used for making conveyor belts
(ii) used for making surgical products
(iii) that resembles wool.

(a) dkj.k crk,¡ %
(i) iSjk'kwV cukus gsrq uk;ykWu dk mi;ksx gksrk gSA
(ii) uko ds iky cukus gsrq Vsjhyhu dk mi;ksx gksrk gSA

(b) fuEufyf[kr (Ñf=ke js'kksa) dk uke crk,¡ %
(i) tks okgd iV~Vk (dUos;j csYV)
(ii) tks fpfdRlk ds fy;s dke vkus okyh oLrqvksa dks cukus esa mi;ksx fd;k

tkrk gSA
(iii) tks Åu dh rjg gksrk gSA

OR 

(a) "Excessive use of plastic is a threat to the environment". Comment.
(b) Write a difference between biodegradable and non-biodegradable

waste. Give one example of each.
(c) Write two measures to control damage caused by plastic waste.

(a) ¶IykfLVd dk vR;fèkd bLrseky i;kZoj.k ds fy, gkfudkjd gŞ  fVIi.kh djsaA
(b) tSo fuEuhdj.kh; vkSj tSo vfuEuhdj.kh; esa nks varj crk,¡A
(c) nks mik; crk;sa ftlls IykfLVd ls gksus okys uqdlku dks lhfer (control) fd;k tk

ldsA
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Section - 'B' ([kaM&^c*)
28. The implement used for both threashing and harvesting is

(a) Combine (b) Thresher
(c) Plough (d) Sickle

og e'khu dVkbZ vkSj Fkszf'kax nksuksa lkFk&lkFk dj ldrh gSA
(a) dackbu (b) Fkzs'kj
(c) gy (d) g¡fl;k

29. The gland that triggers the hormonal balance in adolescents towards adult
state is
(a) Thyroid gland (b) Adrenal gland
(c) Pituitary gland (d) Pineal gland

fuEufyf[kr esa ls dkSu lh xzafFk fd'kksjkoLFkk esa gkeksZu ds larqyu dks ;kSoukoLFkk dh rjiQ
ys tkrh gS
(a) FkkbjkWbM xzafFk (b) vsMjsuy xzafFk
(c) fiVqbfVjh xzafFk (d) ihuh;y xzafFk

30. Why are endocrine glands known as ductless glands?

var%lzkoh xzafFk;ksa dks okfguhghu xzafFk;k¡ D;ksa dgk tkrk gS\

31. Why is fertilization in humans is an example of internal fertilization?

ekuo esa fu"kspu fØ;k vkarfjd fu"kspu D;ksa gS\

32. Name two crops which are sown during rainy season.

o"kkZ ½rq esa cks;h tkus okyh nks iQlyksa dk uke crk,¡A

33. Give two examples of organisms that undergo binary fission for
reproduction.

f}[kaMu fofèk }kjk tuu djus okys nks thoksa ds mnkgj.k nsaA

34. What is metamorphosis? Give two examples of organisms in which it occurs.

dk;akrj.k fdls dgrs gSa\ nks thoksa ds uke crk,¡ ftuesa ;g ns[kk tkrk gSA

35. Students from DAV school were taken to a field trip to interact with the
farmers and observe and note down the crops they sow, how it is done,
irrigated, harvested and stored. The children were very happy to be in
such a beautiful place & learn in this way. The teacher was delighted that
the children had learnt so many new things.
(a) The farmer told the children that a leguminous crop is grown between

two successive cereal crops. Why do you think the farmer said this?

(b) Which two values displayed by the children?

Mh-,-oh- Ldwy ds Nk=k ,d ÝyhM Vªhi ij fdlkuksa ds lkFk tkudkjh izkIr djus vkSj ns[kus
ds fy, fd dSls [ksrksa esa cqvkbZ] flapkbZ] dVkbZ oxSjg gksrh gS ys tk;s x;sA cPpksa dks bruh
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lqanj txg tkdj cM+k eT+kk vk;k vkSj mUgsa lh[kus dks Hkh cgqr dqN feykA Vhpj Hkh cgqr
[kq'k Fks fd cPpksa dks bruh lkjh phtsa lh[kus dks feyhA
(a) fdlku us cPpksa dks crk;k fd gesa nks vukt okyh iQlyksa ds chp esa ,d nky okyh

iQly mxkuh pkfg,A crk,¡ fdlku us ,slk D;ksa crk;k\
(b) cPpksa ds fdUgha nks izfrewY;ksa dks crk,¡A

36. (a) What care should be taken while storing the harvested grain in silos.
(Write two points)

(b) Name the government agency that stores grains on a large scale in
silos.

(a) iQly dh dVkbZ ds ckn vukt dks [kÙkh (lkbyksa) esa j[kus ij fdu nks ckrksa dk è;ku
j[kuk pkfg,\

(b) ml ljdkjh ,tsUlh dk uke crk;sa tks vukt dks cM+s iSekus ij [kÙkh esa Hk.Mkj.k
djrh gSA

37. (a) Differentiate between logging and lodging of water.
(b) What do you understand by the terms :

(i) broadcasting and (ii) Seed drill

(a) ykSfxax vkSj ykWftax esa varj crk,¡A
(b) fuEufyf[kr dk D;k vfHkizk; gSA

(i) foLrh.kZ (czksMdkfLVax) (ii) lhM Mªhy

OR 

(a) Name a chemical that is used to kill the unwanted plants growing
along with the crop without harming the crop.

(b) (i) Name the variety of the wheat crop which was introduced during
the green revolution.

(ii) Write any two special characteristics of this variety.

(a) fdlh ,d dsfedy dk uke crk,¡ tks iQlyksa ij gkfudkjd izHkko ugha Mkyrk ij
vupkgs ikSèkksa dks [kRe djus esa enn djrk gSA

(b) (i) xsgw¡ dh dkSu lh tkfr ^gfjr vkanksyu* (xzhu jso;qys'ku) ds oDr 'kq# dh
xbZ Fkh\

(ii) bl tkfr ds nks eq[; xq.k crk,¡A

38. (a) Write two functions of endocrine system.
(b) Name the hormones secreted by any two endocrine glands.
(c) What is the role of thyroxin?

(a) vUr%lzkoh flLVe ds nks dk;Z crk,¡A
(b) fdUgha nks xzafFk;ksa ls mRiUu gkjeksu ds uke crk,¡A
(c) FkkbjksfDlu dk dk;Z crk,¡A
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OR 

(a) Name two minerals that are usually low in the diet of teenagers.
(b) Define menstruation. Why does it occur.
(c) Write two aims of 'Just say no to drugs' campaign.

(a) nks v;Ldksa (feujy) dk uke crk,¡ tks fd'kkjksa ds Hkkstu esa de gksrs gSaA
(b) ^½rqL=kko* dks ifjHkkf"kr djsaA blds gksus dk dkj.k le>k,¡A
(c) ^u'khyh nokvksa dk fu"ksèk* izpkj ds nks y{;ksa dk o.kZu dhft;sA

39. (a) Write two functions of the hormones produced by the ovaries.
(b) Name the part of the female reproductive system where

(i) The sperm fuses with the egg.
(ii) The Zygote gets embedded for further development.

(c) Name the process shown in the following diagrams.

(a) vaMk'k; }kjk L=kkfor gkeksZuksa ds nks dk;Z crk,¡A
(b) efgyk ds ml iztuu ra=k ds Hkkx dk uke fy[ksa tgk¡

(i) 'kqØk.kq dk vaMs ds lkFk fu"kspu gksrk gSA
(ii) tkbxksV tgk¡ fodkl ds fy, fpid tkrk gSA

(c) fp=kksa esa n'kkZbZ xbZ fofèk dk uke crk,¡A

Alternative question for visually challenged students in lieu of Q. 39 'c'

'c'
Name the organ that produces sperms.

'kqØk.kq cukus okys vax dk uke crk,¡A

OR 

(a) Name four parts of the female reproductive system.
(b) Draw a well labelled diagram of the human sperm.
(c) At what stage is the embryo called a foetus.

(a) efgyk ds izttu ra=k ds pkj Hkkxksa dk uke fy[ksaA
(b) euq"; 'kqØk.kq dk ukekafdr fp=k cuk;sA
(c) fdl voLFkk esa Hkwz.k dks iQhVl dgrs gSa\

Alternative question for visually challenged students in lieu of Q. 39 'b'

'b'
Name two parts of human sperm.

euq"; 'kqØk.kq ds nks eq[; Hkkx crk,aA
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